— =LA O
k=1 Jof froy Fa =1 ]
FAG LTS 100 £ AL =N B A | 5 agasie @e 2akrol 42x L A o, Bt )
= 2] =] = 10 ’
= S AL Totet, 918 A vehd e
@ 0.412 < a < 0.43
@ 0.415 < a < 0.425
2. 414 71017} 35.20m 9 220] 70|% ZAe Ao|ck, © 0.0415 < a <0.0425
7t 7HE AR @ 0.4195 < a < 0.4295
@ @7 35.6cm @ 7 34.9cm © 415<a<4.25
® ¥ 34.2cm £ 36.3cm
® Al 35.8cm
6. TS F AHZE 2.03 x 103 o] Fgko]l 2 4 J= AL
ne= e 7129
1]
1=
3. Mgl 15327 ol FotuloflA w2 oF
—U—o] 0_5112 ]—]T —11—]_1 A7E = @1998 @2019 @2026
1500 g oletal et uff, @ 2= Lupelrt?
@ 2031 @ 2034 ® 2036
O 329 @ —327 ® 684
@ 687 © 5007 06,06 ©060e 6006
@® 6,6, 6606
4. 4o zElofA HrEste] I TAHgo] 40 A o,
kel Hee?
7. o2 T ST FESAY NGt bt AF "
@ 37 < (Fgh) < 43 @ 37 < (%gh) <43 AL (H, [] 2 53 A7l 4 =a°lth)
217} 2} 7}
® 35 < (3Hgh) < 45 @ 35 < (FFgh) <45 @ 5610V [1V] — 3 7}
237}
©® 35 < (Fah) <45 @ 4100m [1m] — 2 7}
® 20.1kcal [0.1kcal] — 3 7H
@ 34°C [1°C] — 1 7N
® 250mL [10mL] — 3 7}




A =70 F7F 10g Q1 22 AfojA SAEE520¢ | 11. th3 B& 3 7k 5 SAtgko] ofd A7
S Aot o5 F kel 2 5 gle A2
ST AFA C 22 2E3 S g5
® 515 @ 517 ® 520
© ¢ & A& o4 BAZEA O] AR 429 km o]
@ 523 ® 525 )
© ¢ gu10] 100m F2)7] 712L 1622 0]t

E217]9] B 126 kg ol T,

®©@ ® ® O ©

Sa)uate] Q- 48009 B o]t

A 0] 0.01km 9 &4 7|12 ZAHEE 4520m
=4 ?

oIk, o] Aol FELAE

12, 9hE 3 sto] 92 AT @ 240] A7 A5 AR o
RS 4, 5, 2 A Ae nE n2d (Y 27)

@ 2kg — 0.05kg @ 80g — 0.5g

® 0.5kg — 0.05kg @ 901g — 0.5g

® 72.42kg — 0.05kg

O T A e Ae 25 2 RRIA] Aot
o 13. 2|4 9919 =5°] 10kg ] &= oH =] 77
£ ST A7} 6000kg O] AT, o] AFAF FA O] %

7. %2 §F g2 L 347 olth = oFH?
LAY 54t o] g o] &do] o4
T, 23PL}F o] Ao|7} 3md5cm ©|t}. @D 5985kg @ 5990kg ® 5995kg
=. 7 OPHEE 165 71 Al ) @ 6005kg ® 6010kg
o, A74A] 7k bl 70 o AREe AXT
v, Z7A7t 3kg ST

14. AA|o] ZA7} 53.5¢g¢] o]H EH| o] FAS A2 =
(:] 7

A gl Tt 22 o, by A S99 A

27
® 53.1g @ 54.2g ® 54.9¢
@ 53.7¢g ® 53.9¢




15. 6.70 x 10% o] i3t 2 A 5 22 A7

@ 229l §AE 5 ot

@ 6.7 x 10> 92 e 4= 9t
® 670 I a2 A Zt
@ faEEAE6,7 9 2 7ol

® #grel 9= 669.5 < (43 < 670.5 o]t}




